1297/16 d.. A

AT TR / Govemnment of India
3TdRET fdHeT / Department of Space
fasmar armng srafer g / VIKRAM SARABHAI SPACE CENTRE
ferea=iciq®ar / Thiruvananthapuram - 695 022

el RITe-a (TR YaTes (HeRaTor A% fre), fAans.292) & 9g & waue ¥ fofea afer
WRITTEN TEST FOR SELECTION TO THE POST OF TECHNICIAN-B (CHEMICAL OPERATOR

(MAINTENANCE MECHANIC)ADVT. NO. 292) '

9g §.1297 / Post No 1297

faf2/Date: 25.09.2016
FaTf®s 3iF/Maximum Marks : 320 - THI/Time. 2 &/ hours
3713reff &1 sA1H/Name of the candidate IFshAIS H/Roll no.

331t & forw regerer /Instructions to the Candidates

L. 39 CaRT A9 3HTdee 7 T T T JHA-AgeT 3T & HUR T 319 il odar & e smfa
foram ara &1 afe oY A9 o frelt geem fir s gfafe A & a7 fosres & HETER 3R v

STET T@ & oY IThT I3 far I 3 &) Srushy

You have been called for the written test based on the online data furished by you in the web application__If you have
wrongly entered any information in the web or you do not possess the required qualification as per our advertisement,

your candidature will be rejected.
2. eI gler # fordreres v 3ufeufy & & 3oy gTa-Ree W gvamnr s aiiRT|

You should sign the hall ticket only in the presence of the Invigilator in the examination hall.

3. RO, 80 SR A o WRA-GPAH F &I A E R wdiem A 3rafr 02 6 ¥ |

The Question paper is in the form of Question Booklet with 80 questions and the duration of the test is 02 hours.

4 RAFIRAF T gEl ofF aRT 1o AR IeeR-gRTH & S|

A separate OMR answer sheet with duplicate will be provided to mark the answer options.

5. 9cdd W Hfew 04 37 g 3R TAF T Ieal FAT TF 37 Frer S |
Each question carries 04 marks and one mark will be deducted for each wrong answer.
F.1.0




10.

11

12.

13,

14.

15.

maﬁﬁﬁﬁgﬁammg@wﬁvﬁﬁgmﬁmﬁ@_@wmmgﬁawwﬁﬁqu

IECGIRCITAY
Question booklet series code (A/BICIDIE) printed on the right hand top corner should be written in the OMR
answer sheet in the place provided.

GReT- e 31 TR AT AT I T (o |

Enter your Name and Roll Number correctly in the question booklet.

mmynm-gf%wﬁmqﬁmmmmtﬁamw#ﬁrﬁmml
All entries in the OMR answer sheet should be with blue/black ball point pen only.

Wﬁwﬁw%ﬁwm%masﬁﬁaﬁﬂﬁ%wmmﬂaﬁml

The questions will be objective type with four options out of which only one will be unambiguously correct.

HTIRY, Seer-gfeaat 7 U 71T RN F AR, /T T & Sier e 9 F INTAAR Jecl-

Wﬁﬁéﬂﬁ&ﬁ'&ﬁﬁﬁﬁﬁﬁ?@f&mﬂuud FATE

You have to select the right answer by marking the corresponding oval on the OMR answer sheet by blue/black ball
point pen.

Teh T2 o TIT 31 3} ITeld AT ST |

Multiple answers for a question will be regarded as wrong answer.

Computers, calculators, mobile phones and other electronic gadgets, text books, notes etc., will not be allowed
inside the written test hall.

m@m«.mm.@wwmﬁwmﬂmw
forfiers =t B o gEdY wfet 3T o T

On completion of the test, tear the OMR answer sheet along the perforation mark at the top and hand over the original
OMR answer sheet to the invigilator and retain the duplicate copy with you.

SrReT-g e 3r3redf 3rereY O W FHA €|
The question booklet can be retained by the candidates.

GRET & TUH B SR 3t Y o g aise 1 AT e 6

Candidates are not permitted to leave the examination hall during the first hour of the examination.
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AHANTATA — ft TS TaTers — HeATET0r_ Abfar (1297)/Technician — B Chemical Operator —
Maintenance Mechanic (1297)

GEIeeT HT HYeTET T fAFATf& &/The following is indirect cost of accident
(@) AfAF A 37AR & fIT ggea TfRA/Money paid for treatment of worker

(b). HAF FT Yecd Hﬁfﬁ\ﬁ-’fﬁCompensation paid to worker

(c) ©H HA® F AT T FAT FHT ARTA/Cost of lost time of injured worker
(d) 39ded HMALL of the above

tafel ———— 39 @ IR ARR* & & q@:arly a1 e 2
Above ———— dB the sound becomes physically painful

(@ 60 (b) 40

(© 70 , (d) 80

Yray &l TH. 3A1s. zlﬁ'c.“—’éﬂ‘he S.I. unit of power is

(a) &«RI/Henry (b) FHellHA/Coulomb

(c) dIg/Watt | (d) dre-gT/Watt-hour

fAega uRT 1 FHIT FEA 3T H——— Fed

An instrument which detects electric current is known as

(a) adrecATI/ Voltmeter . (b) RIfATTH/Rheostat

(c) dTEH™IY/ Wattmeter (d) IeaAHEYGalvanometer

Th 37U (1 Tad) ———— & FAA §/One Horse Power (1 HP) is equal to?
(a) 8454d1CT/W (b) 546 are/W

() 764 aEIW d) 746 IETW

T Y55 I JUICAT AT Fodeldl T THET—— & Fora &

Testing flatness or straightness of a surface is possible using

(@) TFI HTA9YVemnier caliper (b) ﬁ&?ﬁTﬂTMicrometer

(c) Tad: FATARF/Autocollimator (d T AL of these
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115 3

11

TF YT FT Aty a0y A — EART AT Sl §l

Resistance to fatigue of a material is measured by

(a) _‘\-_Ci’l'\‘ﬁ 3fe1qTc/Poissons ratio (b) He HAVEndurance Limit
(c) T HAYTH/Youngs Modulus (d) FHORAT HE&IT/Hardness number
W3, TARR, A, AUSHAT FA FHLANT —————— T S &

Chalk, limestone, marble, eggshells and seashells are made from

(a) $hfcTTH grs3IaarSs/Calcium hydroxide
(b) HfcTIH 3TFATSS/Calcium oxide

(c) FTIH FEfAIC/Calcium carbonate

(d) SHfewgs FARISS/Calcium chloride

o S WIND} E‘ﬂ%’q &/Gases are compressible because of
(@) U & &g H ST9T8/Space between particles

(b) U & FEE/Collision of particles

(c) FUN & TTol«i/Movement of particles

(d) Uit & 3MIAY 3HST FoA/Forces of attraction between particles

PrfafRd & & @@ FOR gard FiF-ar &7

Which of the following is hardest known material?

(@) WHART FraTS38/Cemented carbide

(b) TARTAP/Ceramics

() H©el SR Asgrss (HIEITet)/Cubic boron nitride (CBN)
(d) gR/Diamond

Wfﬁﬁﬁmﬁf@ﬁ#ﬁvfﬁaﬁﬁmﬁmm%
Gears are used to do the following for rotating shafts:

(a) 9fa §g=/Increase speed

(b) T FH FA/Decrease speed

(c) HoTe &I &AM Fee=i/Change direction of rotation

(d) & FVAL of these
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12.

13.

14.

15.

16.

BRT e A, IeaTfdsh RRTF T ————— &gl ST gl
In Fourier’s law, the proportionality constant is called the

(@) FSHCROT ?lUﬁ‘éF!I-Ieat transfer co-efficient

(b) FAT FEROTNEAN/ Thermal diffusivity

(c) FSHI drelehdl/Thermal conductivity

(d) TEA-deatAT [EARie/Stefan-Boltzman constant

fAFTAf@d 7 @oar FAEoT qoid Fad FA fHaeT 82

Which of the following has the lowest overall heat transfer co-efficient?

(@ FIfed Ef3TdH/Molten sodium (b) 3FAA/Dowtherm
(c) Sfcl/Water | (d) arg/Air
fafor Scarmardt & 1 RAgid ——— W 3muia §

Working principle of radiation pyrometer is based on the

(2) ToR@® AFa/Kirchoffs law _

(b) T I/ Wien's law

(c) THA-SoatdAA [ATF/Stefan-Boltzman law
(d) e THTd/Seebeck effect

JaTe AR & A0 ——— FFdgFadt H1 3uder fHar snar gfee s g
The devices used for flow obstruction is/are

(a) 3IARFFT AT/ Orifice plate (b) aﬁa'ﬁ' Fro?fN enturi tube

(c) dTg sASTel/Flow nozzle (d) I VA of these

JATgATIT & JaTeled —— T HTUTRA &/The operation of a rotameter is based on

(a) TEBA F EI'\U‘[?-rfRotation of a turbine

(b) YRadr yarg &3/ Variable flow area

(c) &ASTer & &I &9 9Td/Pressure drop across a nozzle
(d werfaRier ﬁg Y cI/Pressure at a stagnation point
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17. TeAfaf@a & ¥ #ia a8 a9 A 3UERT § O, 39 9% A g BN ST el

18.

1,

forger ATT =T ST W 82

Which of the following temperature measuring instruments need not touch the object whose

temperature is being measured?

(2) TafFoT3TaReFa 3caraATd/Radiation/infrared pyrometer
(b) T JTIATY H YRS/ Mercury in glass thermometer

() #RT YuTell dT9HATGI/Filled system thermometer

(d T ﬁa}lﬁ 3caTgHATl/Thermo electric pyrometer

UF AN S g F wH gy & @Y HE A F G a<ell A AT R o
A machine that moves large amounts of compressible fluid with low increase in pressure
(a) SI3R/Blower (b) G9/Pump

(¢) HUISH/Compressor (d) dYd@I/Fan

S 3R A 3ear & ST F Gy “ufded U H Uh 30T §, forden
7

The relationship between temperature and relative humidity is an example of an "inverse
relationship” which means that:

(a) TS qRadl F geldr & aRomEasT gaX aRadt #F geldt aRade gefr
A decrease in one variable results in a decrease change in another variable

() T oRad # geid @ W gEy oRafdt F # aRade w6 @
If one variable decreases no changes occur in other variables

(© TH uRad F gy @ W welr s aRafdar 7 o gfg gl
If one variable increases all other variables will also increase

@) v gRad F gRF @ W gEy aRadl F el g

An increase in one variable is matched by a decrease in another variable
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20.

21.

22,

23.

24.

25,

=T &I 9aT T9MU/Find the odd one out

(a) 3TFATHAT/Absorptivity (b) 3caiSTRd/Emissivity
(c) 3TUddeTih/Refractive index (d) RIdEI eeldl/Dielectric strength
UF A JaIe H Fl 929dg & (AT #efdH ———— I &l

Total reflux in a distillation operation requires minimum

(a HgfaAT HR/Condenser load (b) YeA: FATAT $HR/Reboiler load
() Toel dI TEAT/Number of plates (d) & FHVAI of these

D F R F T F5 FAS F ST AT 0T §, i g e gerat @

Fr &1
Wood charcoal is used for decolouration of sugar, because it ———— the coloured materials.
(@) 3fAMY/Adsorbs (b) @MF/Reduces
(c) 3IATFEIHIUT/Oxidises (d) 9Rafda/Converts
TF JFUE F HUAT HT G&IT A ——— Pgd &/Number of vibrations in a second is
called
(@ Ta/Pitch (b) 3Mgfcc/Frequency
(c) IoTH/Amplitude (d) 3aFd afe¥/Infrasound
adel oo F —— T 8 FT AT &/Concave lens is also known as
(@) 3TRTRT A=T/Converging lens (b) 3FTERT oe=d/Diverging lens
(c) UREYUT &=d/Dispersing lens (d) el e=d/Conducting lens

iy 7 afea &9 A ———— &arT ifeha foam S &
The power dissipated in a resistance is given by? b

(@ IV (b) VR

() I'R (@ I VAl of these
7 1297/16



26.

27.

28.

29.

fArAfaf@a 7 fauRor &1 3aEor Hia-ar g2
Which one of the following is an example of diffusion?
(@ ST H FAHT 6 dole1T/Freezing water to form ice
(b) 3US @I Gehli FHoR &eAT/Cooking a hard-boiled egg
(€) UH & Frhr 7 Al TAEAT/Adding milk to a cup of coffee
(d) UH FHIEr A T IHAT/Cooking chips in a deep fat fryer
RS HEA ————— & FA F deadl A g L
The electrochemical series is a list of elements in order of their
(a) ALTH Soladis fa/Standard electrode potentials
(b) 3T arqgit & @y AfAfRAAReactivity with other metals
(c) vrfafafe W # TAT/Position in the activity series
(d) 3Tdd RO F TATT/Position in the Periodic Table
U GRAY] F ~gglel A G & AGH el & AT g8 ——— g1 g =ifgel
To find out number of neutrons in an atom, we need to know the
(a) mmﬁaa: R"-i'@ﬂTfAtomi_c number (b) WIele HEAT/Proton number
() WTFT HE&AT/Electron number (d) wcgATT HEAT/Mass number
ATl e wuat # 9fST/Read the following 2 statements.
L. IHATOTEAT, T e fAemas & f@ele e 6 e 3o i d@ear g
Molality is the number of moles of solute dissolved in one kilogram of solvent.
2. AN, Toh o] @eds & faeller e & o sopit & Jer gl
Molarity is the number of moles of a solute dissolved in a litre of solution
ol 3cak ﬂﬁl’@!Choose the correct answer
(a) Gt ST AT &/Both the statements are false
(b) YT 1 TG & 3R HYT 2 IeId/Statement 1 is correct, Statement 2 is false
(c) YT 2 T & 3R FUF 1 IeId /Statement 2 is correct, Statement 1 is false
(d) G T Tar o/Both the statements are true
8 ; 1297/16



30.

51,

32.

23,

fata 3maad &, 9

(a)
(®)

(©

(d)

9T 39a0dT &/In vacuum distillation, substance boils at

39 GHHT FaYUT/Its normal boiling point

IS YAHAGY Fadadh o TS IR & dgAT

Temperature slightly above its normal boiling point

IS THARI FTATR A A & argaTeT

A temperature below its normal boiling point

3= aTsd/Under high pressures

U& FHeadA § AT AT F e ——— g

In an assembly and machine shop, fixture does not

(a) T WY P AGT Thsdl/Hold the work piece

(b) FII TS &7 gdl/Locate the work piece

() 3R & A&MWGuide the tool

(d) 39dFa @Al of the above

gh F\R_*ULubricating oil

(@ el gGﬁ' & &TUT I FF Al o/Minimizes wear in moving parts

(b)
©
(d)

gﬁﬁ' I AT W@ FH FETIAT TGId i g/Helps in keeping the parts cool
3ieal &r & Srerar & 3R SgT o STdar 8/Washes away and carries away dirt
B'Qé'ﬂlﬂ' /ALl of the above

Stg a1 7 dgd Sarer vk R AT F i o i TR g &, aw

R &1 39T fovar Sar § |

gears are used when large speed reductions and power increases are necessary.
() WISSH/Spur (b) TH/Worm :
(c) Sde/Bevel (d) YF/Rack

9 1297/16




34.

35,

36.

3T

38.

ToIde afcgar & g — T 37Tt 2/In fusion welding, penetration is the

ratio of

(a) ez T DS ¥ ITPT TEUS/Width of the weld to its depth
(b) o8 HIESH 3T IES/Length of the weld to its depth
(c) do & IEUS ¥ 3T dI3rs/Depth of the weld to its width
@ a?s: &I IETS T IR SaT8/Depth of the weld to its length

AT TrelhaT & fT gfAc ————— B/Unit for thermal conductivity

(@) JkgK : (b) J/molK

(c) J.ohm/sec.K> _ (d WmK

Fih Tdh I<OT ﬁ'cﬂ?lﬁiﬁ‘ & FifR IHH —— §/Cork is a good insulator because it
has

(@) HFT FoAdciei/Free electrons

(b) WRHAUGH FOgaA 3HTgica/Atoms colliding frequency
(c) Ty fA3/Porous body

(d) ¥ FALl of these

IRE F R IOd ——— ¥, FIaF FRT 9 F9 F FAfCd Tl HATI
The fluid property, due to which, mercury does not wet the glass is
(a) HYelcd/Density (b) A/ Viscosity
(c) YSI delra/Surface Tension (@ TAERorfedn/Diffusivity
TAHHTY —————— & A & fore gaver frar ST &/Anemometer is used to
measure
(@) a3/ Velocity (b) cIsl/Pressure
(¢) WA/ Viscosity (d) Helcd/Density
10 1297/16



39.

40.

41.

42.

43.

AT & Y e f[eRor & 3eqaqsT & v —— &7 39T fRar s g

For studying detailed variations with time, one uses:

(a) Ei?f-lﬁﬂndioator ORREEG] ﬁﬂja?fDigital indicator
(c) ReSURecorder (d) HHTDIR/Integrator

IMAfETF HEAT AT & YO A —— Fgd &

Instruments that measure relative humidity are called:

() arIETEATd/Barometers (b) ITEATAT/Hygrometers

(c) BISSIHICYHydrometers (d) StereRii/Hydroscopes

HYFGr GUT F Flcted A a9 & foI/In order to avoid cavitation in centrifugal pumps

(@ o ae 30 g zrt%:rﬂhe delivery pressure should be high
(b) TUUT & HH Bl TTT@T/The suction pressure should be low

() TN 19 38 8T AT/ The suction pressure should be high
(d) T T FH B’I?IT E!T%'fohe delivery pressure should be low

G-I TR A HARNTeTad —— & e fovar Sier )
Intercooling in multi-stage compressors is done

(a) ar TN #H FUST HHG H1/To enable compression in two stages

(b) @S & R arg FT M FA/To cool the air during compression
OBRGEI K] ag dI MTT FE/To cool the air at delivery

(d) TIET F FF &I &H &1/To minimise the work of compression

FreRa fov Gar 59 1508 F Fa & “dEr S gahar 22

From what depth is it possible to "suck" water without causing cavitation?

(@ 100 HeI/100 m (b) 39.3HITY39.3m
(¢) 33.9#T339m (d) 33.9%c/339ft

11 1297/16



44,

45.

46.

47.

ST FT GAF IMH ST aTfSd BT &, 3797 T W77 fhclel o FSAT Feldy oF Sirar

87

Each gram of water that evaporates carries with it approximately how many calories of latent heat.

(a)
©

200 (b) 540
600 d) 800

et & 3reher epaet gamed ——— & foIT far S &

Drying operation under vacuum is carried out to

(2)

(b)

©

(d)

Hcaftd 3aReag A7 arer Terit & e

Dry those materials which have very high unbound moisture content
YShel AT Bl FH HA

Reduce drying temperature

YHT dY H ghg o=

Increase drying temperature

3T IReg A arel gerdf & s

Dry materials having high bound moisture content

rifafea # B aife garee & w9 F aeffepa a8 fear amr &2

Which of the following is not categorized as a “mechanical operation”?

@
©

qeqreTai/Agitation (b) AT Aaei=/Size enlargement
e e=ea/Filtration (d) 3TEUT/Humidification

T JHielFad —— 9 JaIfaid 81ar &/An autoclave operates at

@
(®)
©
(d)

AIHS Tel/Atmospheric pressure
mgﬁsaﬁ?: ald ¥ F9/above atmospheric pressure
El'l'{lﬁ???ﬁﬂ &I ¥ sird/below atmospheric pressure

Tadifad @3 & @y Eﬂ'{l}ﬁ?ﬂﬂ &Te/Atmospheric pressure with automatic control

12
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48.

49.

50.

31.

Tk FSATYT e ATRGRar § 3curg $r Jetelr & 31“@‘%?&?5 H—

In an exothermic chemical reaction, the reactants compared to the products have
(a) AT Foil/Same energy (b) 31T8F FAT/More energy

(c) 3TIAX div/Higher temperature (d) FF F/Less energy

3ARET 7 Hael Uhe SofeT BT &F AlceT fhdT ST Thdl & Fifdh
Only rocket engines can be propelled to space because

(@) ¥ 397 AT SUaT & FT FX THA &/These engines can work on several fuels

®) T AT ITT YUlig Fr STeleT Y Tl €/They can generate very high thrust

(¢) BAH 3TT HAlgaT &I %/They have high propulsion efficiency

(d) ¥ TY-GHA ofel AT &/They are not air-breathing engines

3 el FaAT —— B/Fire tube boilers are

(@) 3d: Sarfad/Internally fired

(b) STEId: Sdlleld/Externally fired

(c) 3id: aUTaEId: Eﬁﬁ'ﬂmemally as well as externally fired
(d) BFI?ET T EFTé‘ F—Iﬁ/None of these

RN IR & gUIF FAT FIF ————— T IHTOT 38T ¢
A shaft rotating in a bushed bearing is good example of
(@ TIoT fc/Sliding fit (b) @rdr fe/Running fit
(c) @Y Rhe/Push fit (d) gR=ETEsT fRe/Driving fit
13 1297/16



32

S5

54.

Fad R & Faf@a § F 5 e Sar ¢ arfe s g aor 3ieR @ &g gar
ISR & 31 & &1 Teh T hed 39T gl 82

Which of the following is added to the cutting fluids so that soapy film is produced between the
work piece and tool and chip and tool face?

(a) HeHYSulphur (b) FARS/Chlorine

(c) (a) T (b) AAI/Both (a) and (b) (d) 313 ¥ FIS AGI/None of the these

38 R # &3 & dqfaid e & fw & 7 fhdar sR 3 e &2

In this figure how much weight is needed to put at B to balance the beam

500gm
< : 15cm ol
h 4
A 2 F B
I: 9cm =
(a) 720 9TH/720 gm ‘ (b) 750 ATH/750 gm
(¢) 1225 AqTH/1225 gm (d) 270 JTH/270 gm

A U Jre7aR, WeaR A, 9R9y # arr 1 9ar X (100 30 & 2 |, 50 30T H
14)

Find the current in the circuit as shown below (2 nos. of 100 ohms, 1 no. of 50 ohms) in Amperes

(@ 05 (b) 04
(c) 033 (d 025
Ll 100 Ohm
50 Ohm

14 - 1297/16



9

56.

57.

58.

A Aedd Fr FeA UTIRIET FAT &/What is the total resistance of the network below?

120 36O
—— 11—
60 18 0
] T e
(@) 16Q (b) 18Q
(c) 24Q d 720

3R 20.0 Her HIF F AT F §T F THGRT AT AT, A ST FSAT T &2
AT o 5 a7 F1F A F Ty=iana B 3w @)

If 20.0 calories of work is transferred as heat, how many Joules of heat are there? (assume all work

is transferred as heat)

(a) 83.67]
(b) 8521
(c) 487

(d) FRT 3R ISAT & FIY AT fHAT IAT FhA/Work and heat cannot be related

e T faega &7 A & Ryt & N 7 FHola I B ASAAT S g, 9 227 F I
o orar 1 & Riga & 9w F Rmaier 1 aRees ATl |

When 7 Coloumbs of charge are moved between two points in an electric field 22 J of work are |
done. Calculate the potential difference between the two points.

() 154V () 3.1V
() 033V @ 15V '

Y erEETY FHIAT IR FT SR 12 3 &1 3PR U aEr 1 9y 18 A T,
ar gEX & iRy fhdeT 87

The resistance of a parallel circuit consisting of two branches is 12 ohms. If the resistance of one

branch is 18 ohms, what is the resistance of the other? *
(a) 18 (b) 36
(c) 48 _ (d o4
15 1297/16



59.

60.

61.

62.

R 5x 107 m’ 817 &1 1 HAeR o TEF a”R FT 10kN 98 ¥ 1 A, g9 aifeg

fram STrar § & aRR @ Ger AN faer gem

Ifa 1 m long steel wire having area 5 x 10~ m? is stretched through 1 mm by force of 10 kN, then
Young modulus of wire is

(@ 2x10"Nm™ (b)) 2x10"Nm™
(©) 4x10'Nm™ d 5x10"Nm™

fefafed R & fov gameT sfsar m) &1 g —— %)

The value of Normal reaction (R) for the following fi gure is
2ol
@

8 T 7 T S A S S GO QN A S OF O O T S

F: AR i R

(A W-PSin6 (b) W+PCoso
(c) P-WSinb (d P+WSin6

/P

IE R TH GAA F AR 100 N§| SHAT R JZdr W Tt o
A mass weighs 100 N on moon. What would be the weight on earth?

(@ 100N (b) 106N
(©) 400N (d 600N

o & vF SR vHaA 9§ v @Y AT F 4 /s T & Al B B 2.5 Qv
& dIg gHH AT fraelr gt

A car initially at rest accelerates uniformly in a straight line at 4 m/s?. What will be its speed after
2.5 seconds? .

(@ 10m/s (b) 5m/s
(c) 6.5m/s (d 12.5m/s
16 1297/16



63.

64.

63.

66.

AT #H 12.6 M TIHIUSA 39ASE 81 3.00 M TIHTS &I 5.00 fiey dTst & v sy Ster

H IEIFAT 87 AT F 31IIT 7 IRadaT I FA01T AT

12.6 M HCl is available in the lab. How much water is needed to prepare 5.00 litres of 3.00 M HCI?
Neglect volume change in mixing

(@ 1.19@e/1.19L (b) 3.81¥/3.81L
() 1.8¢cV18L (d 32°I32L

a@%mmwwmmwmanzzomaqﬁﬁmﬁaﬁam?%ﬁn gl

Find rpm of the spindle when the cutting speed is 220 m/min. The job diameter is 7 mm

@) 10,000 (b)) 22,000
©) 15,000 . (d 31,400

zoﬁ.afi’r.mﬁﬁwwﬁ%_m$W2oﬁ.m.mﬁwm
9T St 0.2 @A ufe gofe & #=oT & & 500 rpm W i Far &, 7 3R R Sar

b T B IR ¥

A drill bit of 20 mm diameter rotating at 500 rpm with a feed rate of 0.2 mm/revolution is used to
drill a through hole in Mild Steel plate of 20 mm thickness. The depth of cut is

(@ 100 .7./100 mm ®) 20 &A.#A20 mm
(c) 10 A.# /10 mm (@ 02A.A/0.2mm

12 T & AT 70 A, g fr e AT w37 22 e v @ae a9 391 317 0.05
A 9id aid o1 & WY g9 @I g1 WoT I 9 AT ———— 3

A milling cutter of 70 mm diameter with 12 teeth is operating at a cutting speed of 22 m/min. and a
feed of 0.05 mm/tooth. The feed rate per minute is

(@) 110 A.#/A5e/110 mm/min. (b) 35 A /AFeE/35 mm/min.

() 6. ./MAAT/6 mm/min. (d) - 60 f&.7T./fA=e/60 mm/min.
17 1297/16
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68.

69.

70.

a9 W HERS dUT BRTIC aldl Uk A gl

Temperature at which both Centigrade & Fahrenheit are the same

(a -32 (b) 32
(c) —40 (d) 40

30°C & 200 I1H el I IIYHSAT ST T 80°C e oM kel & I 37aeqeh FoAT dr

AT F kI H IRl AT

Calculate the amount of heat in kJ required to heat 200 g water at 30°C to 80°C at atmospheric

pressure.
@ 10K | ®) 42K
©) 50kJ ) d) 2445k

U &d &I a1fde FIar 1.2 x 107 Ns/m?, Sefd 39T gaca 600 kg/m® &1 m¥s &F

Y& A ———————
The dynamic viscosity of a liquid is 1.2 x 107* Ns/m?, whereas, the density is 600 kg/m>. The
kinematic viscosity in m?%s is

(@ 72x10° (b)) 20x107°
& Taxiyr (d 70x10°

T IR WOT FUSH A, 92 3R 8 w7 F 19 1 bar 3 16 bar &, & Ty =axor &
At gl —— gt '

In a four stage compressor, if the pressures at the first and third stage are 1 bar and 16 bar, then the
delivery pressure at the fourth stage will be

(a) 16 bar (b) 1bar
(c) 64 bar d) 256 bar

18 1297/16
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73.

74.

i

T AT 7 9fd O 7 i RoT Sie 205 TR § Sl 9id 6 7 sarfag
HIIeT 23 fhellamd Bl STl &7 Aic Tdeh gie 145 kI §1 3R Higel &1 FailRfed 7o

2050 kl/kg & aF Fafdy &Y gaTdr ——— gl

In a boiler, feed water supplied per hour is 205 kg while coal fired per hour is 23 kg. The net
enthalpy rise per kg of water is 145 kJ. If the calorific valve of the coal is 2050 kJ/kg, then the
boiler efficiency will be

@ 56% (b) 63%
© 78% @ 74%

11.5 I1H Af3TH F e arer 3197 AT 82 Na &l I WANVGS SeqAT 23 ATH
¢l

How many moles are present in 11.5 g of sodium? Gram atomic mass of Na = 23g

@@ 2.0 (b) 0.5
() 3.012x10% (d 6.023 x 107

916 AAT —— 8/916 gold is

(a) 18 ¥TZ/18 carat . (b)) 20 F/20 carat
(c) 22 E/22 carat (d) 24 HTZ/24 carat
WIFCH (A) ——— B/Angstrom (A) is

@ 10°#/10°m ) 10°%#H/10°%m
(© 10°#/10"m (d 102#/102m

8% WIS & Uk ANETSel BleT S 99T T §| IPR 3HHT AETA-HAT Rs. 2,500 §, ar TP

Shr-fra Fasr 82

A mobile phone is sold for 8% profit. If its cost price is Rs. 2,500, what is its sale price?
(@ Rs.2,750 (b) Rs. 3,000

(¢) Rs.2,300 (d Rs.2,700
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1.

78.

79.

80.

TP Heled & U T FY 7 AT dor [ Y Tk 95 F 9147 IR0 &1 WY T 8T W
AT 82 (n=22/7)

In a field, a cow is tied to a tree with a rope of length 7 m. How much area the cow can graze?
(m=22/7)

(3 308 9 MiTV308 sq. m () 154 T HIV154 sq.m
(©) 44T feV4a4 sqm (d 61631 {616 sq. m
25 FT 4 FiAsd ————— /4 % of 25 is?

@ 1 b 4

) 25 @ 2

(1.3) (0.2) (0.3)FT HFT ———— ¥/The value of (1.3) (0.2) (0.3) is
@ 0.78 (b 7.8

) 0.078 d 7.08

adAE & Riar 1 34, 9 H 37 F 3 W F 6 HUF {1 3 I TFA e 7 IAH A<
¥ 5 IET ATl AT F 3H Bhdaw &2

Age of a father is 6 more than 3 times age of his son at present. 3 years before, father’s age was 5
times that of the son. What is son’s age?

(@) 9d%/9 years (®) 6 ad/6 years
(c) 12a9/12 years (d 33 T9/33 years

1 ., . 3.9
Wﬁﬁ'@Solve.l; ---22 xS+

@ = ®» -
@ = @
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